Q.P. Code :23648

[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.

2. Figures to the right indicate full marks.

3. Provide statistical data and diagrams wherever necessary.

Attempt any two of the following:

What is demonetization? Discuss the recent demonetization practiced in India.
Analyze the advantages of demonetization.

Examine the impact of demonetization on GDP.

Attempt any two of the following:

Give arguments in favour of counter cyclical policy in India.

Give an account of Fiscal Responsibility Legislation (FRL).

“The states achieved the fiscal targets well in advance” substantiate with reference to
deficits.

Attempt any two of the following:

What is Universal Basic Income (UBI)? What are its benefits?

Discuss the impact of UBI on financial inclusion.

Analyse the impact of UBI on consumption of temptation goods and labour supply.

Attempt any two of the following:

Explain income convergence/divergence for India, China and World for the period
2004-14.

Discuss consumption divergence within India.

Examine health convergence with reference to life expectancy and Infant mortality rate.

Write note on any two of the following:
Digitalization of Indian economy.

Future fiscal plans

Prerequisites for UBI

Fertility and exceptional performance of india.
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Please check whether you have got the right question paper.

N.B: 1. §d weeT @sfaor sfaard 3.
2. 3oTdIengiel 3k qUT 90T Eifddrd.
3. 3MaeTS A HEIRENT AR ¢ g 3ThcdT Fial.

9.0 Glelleldhl HIOTCATE &l el e} forgr. Qe
37) fARTTRIOT FEUTS FI?  HRATT 3elihsd ASAUATT el fAeaeleiiaonar Iar .
) TATAARIOTAT BrRIGATS TIATOT .
&) Aol ¥l 3Hceld Icdrereal STeledl TRUMATY GI&ToT .

U Wil HIVICATE aleT F&Td 3 feraT. R0
3) HRATS Jolreshld SRV FASATY Jerdilare &
d) TSR FAEERT FHraeardar dfaeay Afgdr g2,
) “UsAlA ATy s e el quT helid” Jiedn TR qsér &3

W3  Wrelleldeh! HIOCATET S TN 3ccl forgt. R0
3) FraTS HAHT 3cUeel FgUTS HA? AT BRIG HIUT?
d) AATEH Heflod ScUearedl e FaaHATdLhda] GIomar IROmAT ==l .
) AAT3h Heldd Scewrel Alfgd TET YN T HH Aol EJTEX GIUMAT TROTHAT faeersor

.
gy  WTolloTdehl HIVICATET Gl T2ATdr 3caX Torgl. Q0
37) $Rd, AT g SEMETET w00y I 0y EIT FHIBI STIell 3cee] UhehgIAHGAT / dBIET FISC
T

d) HRCTciel ST dThTaciiegel Tl .
%) YA T STelHcge] &A1 FEHTAST RSl 3RITT Tehehg (@A TLETOT 7.

9.9 &1 TAgr (FoTcamgr ) R0
3) ARAT IcTaEdde Beficarasiers
d) HIET TSTRNT AT
%) FraTAS HAHT Scdeaaredr qa37er
3) YolAATH AT 30T AR 39diGlcAs hIAERY
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